9/28b

‘jréw\y A A»ﬁ‘w s 3-compeline

Led 6 be & Squne o s,

L@.“’ D \o& e  nunls ot calls - awy ‘H/\(‘&Z
il adiacet  cels

T cosbyr (6) 2 D

LQL Co % the cal Hhat
LWas  4ssijmd Hae  igleg «Frerlugy, Qo

N ote oS¢ G;Q&:Dy (d)= G, (57 de F\\/\;h“\\

Let N“(co) Lm Co p(us ¢ m_‘dLLm\A cedls

0, £

cosigleeo7(<5): Ao & 33D £ 3+ (ostopr (G) .
[o
X() cases  how

DO
~
=
stand  Wkay ¢l

Stond & adl b



9/31b

Raur. G Codel s 297 —compebtn

S j@q wenee ¢ { ' cels
XCo) 0 By ek RMoDett  aceepted il ¢
ED"’«"‘““Q»D&] 2 X9

Ceq

‘A(G>l= it gpr = [ca\s opT qcu[rtwt(

Avorbioetleef3

- X ()

b() = XCo) + DA | for e ¢ e M‘ﬁ)
e N L‘ d(c N/ C) a ACC) £

(()&e(&kmb n] Z b(<)

€ A6)

q ppbqb\'liy ot no call pas aaeptw! i NCO) theen ¢ s preseded,

b(e) = X (&) + Z%%—‘)\)

/e NG

/ \ / \ 3 C¥in N wit X(H]
. 14 Yy 4
g p (o« [goe) +(-q) 3 _

3 Ll Gp (4- )
97 (- ‘) = bl 2 (A'p)‘a(ﬁ“(/‘s) +15 0 mad

A o = (4-p) (p-'h) + (/1 D = (A=) [499*1*4*?]=!0

4 N

N () ¢3

- &(c);z;%j;*r h - 6336



9/31c

L{t\ec&ﬂ? o ExpretaNens:

E (leebiguun )= 2 RCh | A ()] 03366

(€ AG

lewe £7 oer 7 lA (@l

g ' M@(ﬂ e 2 L&.ﬂ {‘7 opy [%

. i ,
§ Zm%lQ?

@, ‘)> (’1'1))(' bas bad K meln

U W é\: {(@"L‘l ’P ' Aﬂ (},&\ci-["] ~ Lw

b

Ex - N fold =

"'\"t\7 cells '-"! NC‘) 434 WLA»‘Q
D L !



